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1009 = 1002 =
—2x100% = 1003 =
6x 10% = 236.1 x 100D =
2x10= 307 = 100% =
10°% = 4383+ 1077 =
250.4 x 10* = 380 + 1009 =
1009 = 1073 =
—2 % 10* = 6x 10 =
1079 = 4% 1002 =
7x10= 529.8 + 100 =
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4% F 3 AU
107% = 0.0001 1072 = 0.01
—2x 107 =-0.02 107 = 0.001
6 x 10% = 600 236.1 x 107" = 23.61
2% 10 =20 307 + 107 = 3070000
107 = 0.0001 438.3 + 1077 = 438300
250.4 x 10> = 25040 382 + 107 = 3820000
107 = 0.0001 107 = 0.001
—2 x 10% = =200 6% 10 = 60
107 = 0.001 4% 1072 = 0.04
7% 10 =70 529.8 + 107 = 5298000
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